[ Efficiency vs vertpos |

-
o
o
(]
>
»
>
>
o
c
[

)
=
)

Ratio

0.4

0.09
0.08
0.07
0.06
0.05]
0.04
0.03
0.02
0.0

T II-I-I.!-l'-I-I.'—LIII!IIII!II‘!I!IIII!IIII!IIII!IIIIIIIII

1.0

0.950

1072

107 1

10 0
TP vertr (cr%)

2

—=— DQM_mKkFit_TToriginal

. —e— DQM_mkFit_TT_pL
Efficiend _,__ DQM_mkFit_TT_pLW

N
-
=
)
>
n
>
>
5
c
o

e
=
)

Ratio

0.1
0.09
0.08
0.07
0.06
0.05]
0.04
0.03
0.02
0.0

Vel

...............................

[y

.

0.95!

-20 -10 0 10

20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

N
>
o
E
2]

[
>

lency

2
=
[}

Ratio

0.5
0.45
0.4
0.35
0.3
0.25
0.2
0.15

0.1

0.05]

.....................................

.....................................

..........

1.0

|
T

5 0 5 10

15 20

éim. PV z (cm)




	Contents
	Page 1


